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% WorkSheet#20 %
; Less than '<', Greater than '>' or Equal to '=' ;
% Fill in each blank with an appropriate inequality symbol. %
g: 1) 4-1 9+8 2) b+2 2+1 g:
T T
x 3) 64 342 4) 93 77
T T
: 5)  6+4 7-3  6) 8+8 7+6 :
T 7 744 41 8 86 343 T
T T
; 9) 7+3 1+1 10) 9-6 2-1 ;
T T
1) 1+ 8+5  12) 7+4 5-3
T T
g: 13)  1-1 2+2  14) 7-2 8-2 g:
g: 15) 85 8-1 16) 8+6 3-3 g:
; 17)  2+1 7-1 18) 4+4 5+5 ;
T T
F 19 3+1 9+9 200 9-9 342 &
% Hint: Evalaute the experssions on both sides and then compare the resulting values %
T %
T T
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